



Naam: _____

Datum: _____ Score: _____

$$\left(\left(\frac{3}{4}\right)^2 + \frac{1}{2}\right) \times \frac{1}{3} - \left(\frac{1}{5} - \frac{1}{2}\right)^2 =$$

$$\left(\frac{3}{2} - \left(\frac{1}{6}\right)^2\right) \times \frac{2}{3} - \left(\frac{1}{4} - \frac{1}{5}\right)^2 =$$

$$\left(2 - \frac{3}{5}\right)^2 + \frac{1}{2} \times \frac{1}{6} - 3^2 =$$

$$\left(3 + \frac{1}{6}\right)^2 - \frac{3}{5} + 3^2 - \frac{1}{6} =$$

$$\left(4 - \frac{3}{5}\right)^2 + \frac{1}{5} + \frac{3}{2} \times 4^2 =$$

$$\left(\frac{1}{2} - \left(\frac{3}{4}\right)^2\right) \times \frac{1}{2} + \left(\frac{3}{5} - \frac{1}{2}\right)^2 =$$

$$\left(\frac{2}{5} - \left(\frac{1}{4}\right)^2\right) \times \frac{1}{2} + \left(\frac{1}{6} + \frac{1}{6}\right)^2 =$$

$$\left(5 - \frac{1}{6}\right)^2 + \frac{3}{5} - 4^2 + \frac{1}{4} =$$

$$\left(\left(\frac{1}{3}\right)^2 + \frac{1}{4}\right) \times \frac{1}{2} + \left(\frac{1}{4} - \frac{2}{5}\right)^2 =$$

$$\left(\left(\frac{3}{5}\right)^2 + \frac{1}{2}\right) \times \frac{2}{3} - \left(\frac{1}{4} - \frac{1}{3}\right)^2 =$$



Naam: _____

Datum: _____ Score: _____

$$\left(\left(\frac{3}{4}\right)^2 + \frac{1}{2}\right) \times \frac{1}{3} - \left(\frac{1}{5} - \frac{1}{2}\right)^2 = \frac{317}{1200}$$

$$\left(\frac{3}{2} - \left(\frac{1}{6}\right)^2\right) \times \frac{2}{3} - \left(\frac{1}{4} - \frac{1}{5}\right)^2 = \frac{10573}{10800}$$

$$\left(2 - \frac{3}{5}\right)^2 + \frac{1}{2} \times \frac{1}{6} - 3^2 = \left(-\frac{2087}{300}\right) = \left(-6\frac{287}{300}\right)$$

$$\left(3 + \frac{1}{6}\right)^2 - \frac{3}{5} + 3^2 - \frac{1}{6} = \frac{3287}{180} = 18\frac{47}{180}$$

$$\left(4 - \frac{3}{5}\right)^2 + \frac{1}{5} + \frac{3}{2} \times 4^2 = \frac{894}{25} = 35\frac{19}{25}$$

$$\left(\frac{1}{2} - \left(\frac{3}{4}\right)^2\right) \times \frac{1}{2} + \left(\frac{3}{5} - \frac{1}{2}\right)^2 = \left(-\frac{17}{800}\right)$$

$$\left(\frac{2}{5} - \left(\frac{1}{4}\right)^2\right) \times \frac{1}{2} + \left(\frac{1}{6} + \frac{1}{6}\right)^2 = \frac{403}{1440}$$

$$\left(5 - \frac{1}{6}\right)^2 + \frac{3}{5} - 4^2 + \frac{1}{4} = \frac{739}{90} = 8\frac{19}{90}$$

$$\left(\left(\frac{1}{3}\right)^2 + \frac{1}{4}\right) \times \frac{1}{2} + \left(\frac{1}{4} - \frac{2}{5}\right)^2 = \frac{731}{3600}$$

$$\left(\left(\frac{3}{5}\right)^2 + \frac{1}{2}\right) \times \frac{2}{3} - \left(\frac{1}{4} - \frac{1}{3}\right)^2 = \frac{2039}{3600}$$